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Q1. What is the difference between the largest five digit number and the smallest four digit
number?

A. 100,999 B. 99,999
C. 98,999 D. 10,000

Correct Ans: C
Q1. giT 3l T & T8 F&AT 3R TR 3P FT TG B TE&AT F ST 747 W] 82
A. 100,999 B. 99,999

C. 98,999 D. 10,000

Correct Ans: C

Q2. How many times is 1728 divisible by 12?

A. 20736 B. 150

C. 144 D. 0.6944
Correct Ans: C

Q2. 1728 F 12 ¥ frctelt IR 137 FhaT 51 Wehel &2

A. 20736 B. 150

C. 144 D. 0.6944

Correct Ans: C

Q3. If 73 is added to the square of a number the answer is 539. What is the number?
A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q3. I} 73 A vF TEAT F ot F G ST AT § @ 3ca} 539 ¥ TE FEAT FAT §?

A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q4. What is the square root of 256/144?

A. 4/3 B. 3/4
C. 16/9 D.1
Correct Ans: A

Q4. 256/144 T T 741 §?

A. 4/3 B. 3/4
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C. 16/9 D.1

Correct Ans: A

Q5. In 2009, a school had 1500 students. In 2010 it experienced a 12% growth in student’s
enrollment and it is expecting a further growth of 5% in 2011. Based on these figures, how
many students can the school expect to enroll in 2011?

A. 1680 B. 1755
C. 1700 D. 1764

Correct Ans: D

Q5. a¥ 2009 #, TF T # 1500 ST &1 2010 #, T7 oH & gaw # 12%a;1%§§3ﬁtagzo11#5%ﬁ
wfaRea gfe a1 1 3mem w37 @ T 37 ISt & IUR W, 98 THa 2011 F fraet S get Y 3mem X ¥ 82

A. 1680 B. 1755
C. 1700 D. 1764

Correct Ans: D

Q6. A dress available for Rs. 1500 is now available for Rs. 1200. What is the discount that the
shop is offering on the dress?

A. 20% B. 25%
C. 30% D. 15%

Correct Ans: A

Q6. 1500 F9& FY TF NATF 3 1200 F9A H ITAT §| GF GIRT 37 N T Fhawait Fe & o1 W@ 82
A. 20% B. 25%

C. 30% D. 15%

Correct Ans: A

Q7. What is the probability that when a coin is tossed three times successively the outcome
would be three tails?

A. 15% B. 16.66%
C. 12.5% D. 33.33%

Correct Ans: C

Q7. T RAFH F dIF IR ITTax W AIMAR el I HT IRONA fAerar Y Fa= waregar 82

A. 15% B. 16.66%
C.12.5% D. 33.33%

Correct Ans: C

Q8. When two dice are thrown what is the probability that a total of 5 will not appear?
A.7/9 B. 8/9

C. 6/9 D. 5/9

Correct Ans: B

Q8. S« & giHT Y HehT AT § dF SHY Fhda) THTIAT & 7F 5 FT ARTHA Yhe AST grom?

A.7/9 B. 8/9
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C. 6/9 D. 5/9

Correct Ans: B

Q9. Ram buys 25 books at Rs. 10 each. If he sells the books at Rs. 300, how much profit does
he make on each book?

A. 25% B. 30%
C. 15% D. 20%

Correct Ans: D

Q9. TH 10 39} A+ & U™ ¥ 25 fFae @ledr §1 3PR g8 39 fFaEl F 300 T9F F 39471 § A 98 T3S Faw
R AT 187 FATTI?

A. 25% B. 30%
C. 15% D. 20%

Correct Ans: D

Q10. From a bag of 100 balls, Ridhi takes one tenth of the balls and Siddhi takes one third of
what is remaining. How many balls did Siddhi take?

A. 10 B. 33
C. 30 D. 35

Correct Ans: C

Q10. 100 e & T e #F ¥, NIY A F cwd s17er Y Awrera ¢ 3k R vF-ReE omr 7 AFed 8 RS
fohraet it &) foreTem 2

A. 10 B. 33
C. 30 D. 35

Correct Ans: C

Q11. Find the odd-one out in the following:

Copper, Aluminum, Oil, Lead
A. Copper B. Aluminum
C. Oil D. Lead

Correct Ans: C

Q11. Ar=afaf@a # ¥ RvA AT F:

aran, sefafaas, o,
A. dieT B. srafaferas
C.ad D. drar

Correct Ans: C

Q12. Find the odd-one out in the following:

Mercury, Venus, Mars, Sun
A. Mercury B. Sun
C. Venus D. Mars
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Correct Ans: B
Q12. Ar=afaf@a # ¥ RvA AT F:
T4, YF, 7, T

N

A. g B. g

C. U D. Harer

Correct Ans: B

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed
in the original pair:

Bank: Money:: Sun: ?
A. Round B. Heat
C. Moon D. Dark

Correct Ans: B

Q13. 77 Faiss RAFew I St 7o 7o ¥ sffcasa @9y F Areey Gay F waiss yffeafFa war g

dF : e gF ?
A. e B. dT
C. dgaAr D. 3R

Correct Ans: B

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed
in the original pair:

Bed sheet: Bed:: Curtain: ?
A. Table B. Pillow
C. Window D. Computer

Correct Ans: C

Q14. TF T RAwew I It 7o 7o ¥ yfficaaa @9y F Areey way F waiss JffcafFa war g:

97T : T 12 UET ¢ ?
A. A B. afsar
C. fasér D. el

Correct Ans: C

Q15. Find the missing term: 83, 82, 84, 81, _, 80
A. 85 B. 86
C.79 D. 87
Correct Ans: A

Q15. dvd W&AT AT Hifae: 83, 82, 84, 81, _, 80

A. 85 B. 86
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C.79 D. 87

Correct Ans: A

Q16. If the MECHANIC is called the DOCTOR, DOCTOR is called the PILOT, PILOT is called the
HERO, HERO is called the DANCER, and DANCER is called the DRIVER, who will prescribe
medicine for illness?

A. HERO B. PILOT
C. DANCER D. MECHANIC

Correct Ans: B

Q16. I AF@AF F) sTaeT FeT AV, S(FeR FI IIAAC FgT ST, YA F R Fgl AT, TR FY ST Fal T 3K
SE HI AT Fgl I¢ df AR F forw ganst w1 Ader sl qam?

A ERY B. 9_Ieic

C. 3+ D. Axfas

Correct Ans: B

Q17. If the TAILOR is called the MASON, MASON is called the ARCHITECT, ARCHITECT is called
the JOURNALIST, JOURNALIST is called the MINISTER and MINISTER is called the PRIEST,
who will stitch clothes?

A. MASON B. TAILOR
C. ARCHTECT D. MINISTER

Correct Ans: A

Q17. I it Y TR FeT AT, TR FY TETHFR FgT AT, TAFTHR T TIHR FgT AT, THRR Y 7:A FgT ¢ 3R
# P qredl FET AT A FiA 92 [A?

A. TR B. gaif

C. aEIHR D. &

Correct Ans: A

Q18. In a different coding system MERCENARY is coded as ZREPRANEL, how is RACEME coded
as?

A. ENPRRZ B. ENRPRZ
C. ENRPZR D. ENPRZR

Correct Ans: D

Q18. af& v A % yorrell # MERCENARY #T ZREPRANEL ¥ ¥ & Feag far smar § af RACEME &Y 333
Feag fhar sream?

A. ENPRRZ B. ENRPRZ

C. ENRPZR D. ENPRZR

Correct Ans: D

Q19. In a different coding system VACATION is coded as 21310954, how is NOTATION coded
as?

A. 45010954 B. 45001954
C. 45001195 D. 45010945
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Correct Ans: A

Q19. If wF A== Fe urelt # VACATION %I 21310954 & w7 # Feag a1 Irar § af NOTATION &t &3
Feag fFam Seam?

A. 45010954 B. 45001954
C. 45001195 D. 45010945

Correct Ans: A

Q20. From the four answer choices, find the missing element in the question figure to
complete the series.
Question Figure

) - B. .
’ .|
Correct Ans: D

Q20. H@eT F [ FA F fAT weat i & e 3l F 3eav F IR el F § A F
R Hf

) . B. .
’ .|

Correct Ans: D
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Q21. Firewalls cannot provide:

A. protection against viruses originated B. protection against unauthenticated interactive logins
from infected USB flash drives

C. protection against network-borne D. None of the options
attacks

Correct Ans: A

Q21. HRIETH Ig e HEAT FI Fhell 8
A. 3=theres USB Welel 315d § 3o Tl dRRE B 3T9ATIONT SeXfed ellergel & Fat

e
C. Aicash-alel gHel & Gt D. 3uFd & @ H1$ fasheq e

Correct Ans: A

Q22. What does the term “"DMZ"” in computer networks stand for?
A. Database Manage Zone B. Demilitarized Zone
C. Data Militarized Zone D. Database Migrate Zone

Correct Ans: B

Q22. FY AcaFd H "DMZ” 9g &1 F41 HfAWT 8?2

A. 3EET HAST ST B. R3faciicges Sl
C. 3reT fAeliesss A D. SEEd ABIC el

Correct Ans: B

Q23. Examples of system software includes:
A. Operating systems B. Utility programs
C. Compilers D. All of the options

Correct Ans: D
Q23. RAFeH WFeAAT & IgTevn A afAe §:

A. 3T feea B. g&ferdr wame

C. FFuBad D. 3uded @it fahed

Correct Ans: D

Q24. Which of the following user interface you need to open to uninstall a program from your
Windows 8 system?

A. Internet Explorer B. Control Panel
C. Windows Explorer D. Recycle bin
Correct Ans: B

Q24. 39 Windows 8 fFes & fFlt fiama &t sreigela & fav, snve! rafaf@a sivar 3or sadw aea
# S §?

A. 3CTEIT THFATARY B. sherel Yol
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C. T taaeaI® D. Rarssed foet

Correct Ans: B

Q25. An attribute or a combination of attributes in one table whose values must either match
the primary key in another table or be null is called

A. Secondary Key B. Super key
C. Candidate Key D. Foreign Key

Correct Ans: D

Q25. UF a9 F AT & TieAe AT WIeHeH FT FirdAeed, Su$T 3o v 3+ & H WSAd - 1 & ara} gt
AT AT L GHeAT AT, Fgelra g

A. sl & B. g &I
C. #3rsT & D. %Rl &1

Correct Ans: D

Q26. Identify the odd one.

A. Monitor B. Printer
C. Speaker D. Keyboard
Correct Ans: D

Q26. fayA i ggu M|

A. FiefteX B. e

C. ThaT D. #-d1%

Correct Ans: D

Q27. A USB protocol is a channel.
A. Simplex B. Half-duplex
C. Full-duplex D. Both simplex and half-duplex

Correct Ans: C

Q27. T& USB WeHid T A B
A. facaFd B. gTh-3gColed
C. Pol-ggoled D. fivererd 31X gT%-3gcolerd, aral

Correct Ans: C

Q28. The distance between the affects the size of the projected contents on an
LCD projector.

A. Projector and wall B. Projector and screen

C. Projector and audience D. None of the options

Correct Ans: B

Q2s. F @7 1 gt & LCD Mot W 9aifia amvet & wser i wenfaa &l 1
A. dreteel AR &ar B. WisieFeX AR whiet
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C. WoieeX 3R g+ D. 3uFd & @ #1$ fasheq et

Correct Ans: B

Q29. The security provided by Internet Protocol Security (IPsec) work at:

A. Transport layer B. Network layer

C. Application layer D. Session layer

Correct Ans: B

Q29. $TT WHia RFARE (IPsec) ZaRT {EAT F§ T arelt RTINS Fal W F1o7 Fh §:
A. TEAIE R B. cas oIk

C. Toellshele o D. 32T R

Correct Ans: B

Q30. Wireless Protected Access 2 (WPA2) security authentication is commonly used on:
A. Ethernet B. Bluetooth
C. Wi-fi D. All of the options

Correct Ans: C

Q30. IHGK T, IRRAT TRefFes taw 2 (WPA2) RFANE drd=daereT Hgl W sTAATT /T 1T 8-

A. 3qT B. sy
C. a8-%TS D. 3uea @it faemed

Correct Ans: C

Q31. An attack which makes the computer resources unavailable to its intended users is
called

A. Denial-of-service attack B. Virus attack
C. Worms attack D. Botnet process

Correct Ans: A

Q31. T 3T I FYET RAHF F 30F T oIt & AT AeTaeretr a7 e ¥, Fgorar &
A. fEaraer-3iTwe-afdd e B. aRRY 3¢
C. a&g 3ts D. sSicaie Iad

Correct Ans: A

Q32. is considered as a "Scareware” as it forces users to pay a fee by scaring or
intimidating them.

A. Spam B. Adware

C. Spyware D. Ransomware

Correct Ans: D

Q32. N TF "FIAIT” A AT ¢ FAF TE TH B STR T YAFH 0F B o & AT 378 FAorqy
FaT ¢

A. TOH B. TgaIX
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C. TURAN D. WEHAIN

Correct Ans: D

Q33. The act to obtain confidential information from a user by falsifying their identity is called

A. Computer virus B. Spyware scam
C. Phishing scam D. None of the options

Correct Ans: C

Q33. TF¥ I TgET A F-I FF TId & I°d AT IS I FT Fed Fgelre g
A. FIT aRH B. TUIISIT Thael
C. fohfRIer &&he D. 39dad # & 1S fAhed w181

Correct Ans: C

Q34. In C++, is the syntax used to access data members of an object.
A. object@datamember B. object*datamember
C. object->datamember D. object.datamember

Correct Ans: D

Q34. C++ ¥, aF Rtaw ¢ S 0% avq & 31T AFAH B AW A & AU gEaATe R S g
A. object@datamember B. object*datamember
C. object->datamember D. object.datamember

Correct Ans: D

Q35. In Java, is the range of "byte" data type.
A.-128 to 127 B. -32768 to 32767
C. -2147483648 to 2147483647 D.-1to +1

Correct Ans: A

Q35. STar A, “aEe” 3TeT T8 AT T gl
A.-128 & 127 B. -32768 & 32767
C. -2147483648 © 2147483647 D.-138 +1

Correct Ans: A

Q36. Which is NOT a computer peripheral?
A. Tape drive B. Motherboard
C. Microphone D. Light Pen

Correct Ans: B

Q36. 3 @ FIeT /T & FTIT FNTIA 781 82

A. 29 g18d B. AcIEIS
C. #ATSHIBIT D. &S U
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Correct Ans: B

Q37. Which is the temporary memory that provides high-speed data access to a processor?
A. Random Access Memory (RAM) B. Cache

C. Read Only Memory (ROM) D. Flash

Correct Ans: B

Q37. 7 TURY AR T W & S v TR A g1$-Fiz e TEFAW HeA;T FAAH §?

A. 5H taad AART (RAM) B. Cache

C. 313 31Tl A (ROM) D. woier

Correct Ans: B

Q38. Which one can generate images to a computer monitor?
A. Sound card B. Video card

C. Expansion card D. Modem

Correct Ans: B

Q38. 3 A FIT AT & FTYX Al F AT FAT Feike FT Thell 82

A. 138 @18 B. difsar &5

C. TaFgYelT HIS D. #isH

Correct Ans: B

Q39. Which of the following is a strong password?
A. 29thSeptember88 B. Bangalore88
C. laugustdelhi@# D. P@a55w0rd

Correct Ans: D
Q39. AFafaf@a #ia a1 v aFaax THasE §?
A. 29thSeptember88 B. Bangalore88

C. laugustdelhi@# D. P@a55w0rd

Correct Ans: D

Q40. X*(Y.2)=(X*Y).(X*2Z) is the:
A. commutative property B. distributive property
C. associative property D. identity property

Correct Ans: B

Q40. X*(Y.Z)=(X*Y).(X*Z) &:

A. FepRa sradt B. Redieafea sadt
C. R sradt D. 3mSR st

Correct Ans: B
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Q41. Which of the following user interface allows you to create files and folders in Windows 7
operating systems?

A. Windows Explorer B. Internet Explorer
C. Recycle Bin D. Basic Input/output system (BIOS)

Correct Ans: A

Q41. RFfaf@d i a1 IeR $exhw 39F v FEls 7 i Rven & st 3k Brestt # a1 w3rg w3ar §?

A. [33Is TeTTaRT B. Seleic TFIAIT
C. Rassd foa D. 3f@% g+4e/3m3eye faFed (BIOS)

Correct Ans: A

Q42. Layer between the computer hardware and user is called as
A. Device driver B. Keyboard
C. Operating System D. Monitor

Correct Ans: C

Q42. FYL FTEAAT 3N I & AT i AW F§T 1T B
A. f3aET 3R B. fr-a1s
C. 3itRfeer e D. Aflsfex

Correct Ans: C

Q43. As the processes are loaded and removed from the memory, the free space in memory is
broken into scattered pieces. This process in operating system is called

A. Mapping B. Segmentation
C. Paging D. Fragmentation

Correct Ans: D

Q43. 3« AR # NARAT F s T AR gerar srar § @ AR F 3Ty B FF @y ge gt 7 dT o
FiraXfeer Rves & 78 WRw FgaTar ol

A. AT B. @aHeT
C. ufSer D. ShaHeerd

Correct Ans: D

Q44. You have to review and make revisions to your team's project report in MS Word 2010
and provide a feedback. Which of the following features of MS Word 2010 should you use?

A. Auto Summarize B. Track Changes
C. Compare and Merge documents D. Mail Merge

Correct Ans: B

Q44. 3TIH 9= & F disige RAE T MS Word 2010 # Reg w3 3R 383 I wautes 3= §1 319 MS
Word 2010 &1 RFafaf@d Fid 91 FRR sTIATT FI31 afige?

A. Auto Summarize B. Track Changes

C. Compare and Merge Documents D. Mail Merge
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Correct Ans: B

Q45. You want to send a Word document as an email attachment. Which of the following
commands in Word 2010 would help you to perform the requirement?

A. Save & Send B. Print
C. Save As D. Save

Correct Ans: A

Q45. 31T TF S STagAT FI $AW HETIAC & T F Ar 96 81 95 2010 F Frfaf@a sia @ w1z 78 F 7=
& 9P A FLN?

A. Save & Send B. Print

C. Save As D. Save

Correct Ans: A

Q46. Which combination of keys will you use to write the subscript 2 in X2 in MS Word 2010?
A. Press Alt and = B. Press Ctrl and =
C. Press Shift, Alt, and = D. Press Alt, Shift, Ctrl and =

Correct Ans: B

Q46. 3R MS Word 2010 & X2 # 2 #! gafiwce & f@a §F v Rrafaf@a e geat # s arg seaae
HTAT TIfge?

A. Alt 3R = i gam=T B. Ctrl 3iR = = arer

C. Shift, Alt, 3R = I gare D. Alt, Shift, Ctrl 3iR = &I gare

Correct Ans: B

Q47. In your document, the review pane appears vertically. What will you perform to display
it horizontally?

A. Click View -> Reviewing Pane -> B. Click Review -> Show Markup -> Review Pane Horizontal
Review Pane Horizontal

C. Click Review -> Reviewing Pane -> D. Click Review -> Reviewing Pane -> Review Pane Horizontal
Review Pane Vertical

Correct Ans: D
Q47. 3Ty siFgac H review pane Hur @t fe@$ & 6T 81 31T FAT F a1fF T 13T oS w02

A. View -> Reviewing Pane -> Review B. Review -> Show Markup -> Review Pane Horizontal @t
Pane Horizontal &I TFele &L e el

C. Review -> Reviewing Pane -> Review p, Review -> Reviewing Pane -> Review Pane Horizontal &'
Pane Vertical & &l &3 Trerer 0T

Correct Ans: D

Q48. What will be the output of, = Count B1:B99 in an MS Excel 2010 document?

A. Count is an invalid function. B. Counts the number of cells B1 through B98 that contains
numbers.

C. #NULL! appears in the respective cell. D. Counts the number of cells B1 through B99 that contains
numbers.
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Correct Ans: C
Q48. MS Excel 2010 3/Fg#Hc # = Count B1:B99 FT H13¢Ye FAT g2
A. Count T AT HarleT gl B. B1 & oY B98 deh HeH o I0TAT &l ¢ TSIt Heamt Al &l

C. Gaftd qT 7 #NULL! Yehe greTm B D. B1 & ol B99 T Hed & 0T el & foleidl HEATT HISG 8T

Correct Ans: C

Q49. What will be the output of =SUM (C2:C8) in MS Excel?

A. Displays the sum of cells C2 through B. Counts the number of cells.
C8 that contains numbers.

C. Displays the sum of cells C1 through  D. NULL appears in the respective cell.
C7 that contains numbers.

Correct Ans: A

Q49. MS Excel # =SUM (C2:C8) FI 3T3cYc F4T 1?2

A. C2 & o/ C8 cell e Si1s fe@rar ¢ fSa#  B. el Jed Y T&aT Y e YT ¢
HEATT AHig &l

C.CLA AR C7 Ued doh AT I3 fG@rar g D. T I & NULL Wehe grar g
fSeret s Alg &

Correct Ans: A

Q50. You want to arrange the data in column A in ascending order. Which of the following
command would you use in MS Excel 2010?

A. Sort B. Filter
C. Consolidate D. Group

Correct Ans: A
Q50. 3T HITH A & STeT T IRE FH F AT I8d &1 3T MS Excel 2010 & Fia W FAT3 TIATT FLa?
A. Sort B. Filter

C. Consolidate D. Group

Correct Ans: A

Q51. What will you do to insert a formula in Microsoft Excel 2010?

A. Choose the New command from the B. Select the cell, type = sign and then type the formula.
File menu and enter the formula.

C. Select the cell and type the formula. D. Select the cell, type + sign and type the formula.

Correct Ans: B

Q51. ATFHIAFE TFd 2010 # TF GioeT SeHE FIA & [T T FAT FN?

A. File A= & New command & To3aTT 3R B. qel T AIFE Fell, = T FRAeeT 25T e AR T Blefer ersa
I VT el T

C. T HT HoiFe FYT IR BIACT BT FET D, A &l Holde HLAT, + &l (e 8T el AN il TTeq HAT

Correct Ans: B
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Q52. How will you add a new slide in PowerPoint 2010?

A. On the Home tab, click New Slide. B. On the Insert tab, click New Slide.
C. On the Slide Show tab, click New D. On the Design tab, click New Slide.
Slide.

Correct Ans: A
Q52. 3T H{ yraicarse 2010 H T AF TABS H AZHN?
A. Home &§ WX New Slide WX el eam B. Insert g WX New Slide W fFeler aam

C. Slide Show ¢& X New Slide W & D. Design ¢& X New Slide W & FTam
hal

Correct Ans: A

Q53. How will you view a PowerPoint 2010 presentation in slide show view?

A. On the Slide Show tab, click From B. On the Slide Show tab, click Start -> Broadcast Slide Show.
Beginning.
C. On the File tab, click Print. D. On the File tab, click Save.

Correct Ans: A
Q53. HW 3T UF qraRcarse 2010 YSiuT FY o133 of o 7 J@a?

A. Slide Show & W From Beginning W  B. Slide Show && WX Start -> Broadcast Slide Show W Fa&
[EGEXcTo) HLAT

C. File 5 9T Print WX Fel& HTT D. File 3§ WX Save W ol HLam

Correct Ans: A

Q54. The online travel portal, MakeMyTrip, is headquartered in which city?
A. New Delhi B. Mumbai
C. Gurugram D. Chandigarh

Correct Ans: C

Q54. JiacTse Taa N, AFARYT FT HEATT B qeT # 82
A. 71§ Tl B. H{a$

C. %aH D. =grTg

Correct Ans: C

Q55. Which of the following is a woman freestyle wrestler who won India's first ever gold
medal in wrestling at the Commonwealth Games in 2010?

A. Babita Kumari Phogat B. Geeta Phogat
C. Priyvanka Phogat D. Ritu Phogat

Correct Ans: B

Q55. farafaf@a i ag aften Preema Fedars ¢ wa 2010 & wsgwsa @al #F IR F1 3T aF Tgon Faof TGF
Shar 82

A.aﬁmgmﬁqﬂm B. 3frar weme
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C. Tz wiare D. §iq wieme

Correct Ans: B

Q56. Haryana State was formed in which year?
A. 1965 B. 1954
C. 1960 D. 1966
Correct Ans: D

Q56. ﬁr&ra&ﬁgﬁ'awnmfrmgéﬁ?

A. 1965 B. 1954
C. 1960 D. 1966

Correct Ans: D

Q57. What is the full form of NTPC, one of India's largest energy Company?
A. National Thermal Power Corporation B. Northern Territories Power Corporation
C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A
Q57. R &I U HGH T9Y FAT e, NTPC &7 T A1 F4T §?
A. National Thermal Power Corporation B. Northern Territories Power Corporation

C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A

Q58. What is the full form of NASSCOM?

A. National Association of Software and B. Natural Association of Software and Services Companies
Services Companies

C. National Accreditation of Software and D. National Amalgamation of Software and Services
Services Companies Companies

Correct Ans: A
Q58. NASSCOM T QX1 ATH &7 82

A. National Association of Software and B. Natural Association of Software and Services Companies
Services Companies

C. National Accreditation of Software and D. National Amalgamation of Software and Services
Services Companies Companies

Correct Ans: A

Q59. Name the first Chief Minister of Haryana?

A. Shri. Manohar Lal Khattar B. Shri. Bhagwat Dayal Sharma
C. Shri. Bansi Lal D. Shri. Bhajan Lal

Correct Ans: B

Q59. RN F vEe HET HA FT ATH TAI?

A. 3 FAG oTel WX B. AT sT91ad &Tel QAT
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C. &Y §41 otel D. &t #1311 ol

Correct Ans: B

Q60. IBM has its headquarters in which city in India?
A. Gurugram B. Mumbai
C. Hyderabad D. Bengaluru

Correct Ans: D

Q60. A # fFH e H IBM FT FE&ATT 82
A. TTBITH B. Has
C. geXeTg D. STc®

Correct Ans: D

Q61. What is the expansion of HTTPS?

o8]

A. HyperText Transfer Protocol Social . HyperText Transfer Protocol Security
C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q61. HTTPS T qof ¥ T §?

vy

A. HyperText Transfer Protocol Social . HyperText Transfer Protocol Security
C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q62. Maruti Suzuki has its production facility in which of the following places?
A. Manesar B. Faridabad
C. Bhiwani D. Sonipat

Correct Ans: A

Q62. faraifaf@a frw srere W aArwfar ot 1 FrR@m 82
A. ARE B. wilcreTe
C. foarir D. Gisfiad

Correct Ans: A

Q63. Virender Sehwag's Cricket Academy and School is located in which district of Haryana?
A. Gurugram B. Bhiwani
C. Rohtak D. Jhajjar

Correct Ans: D
Q63. g & fFa e & diew wgamT fhdhe wheH! AR FRer Ry 82
A. eI B. f@arh

C. Vgd=s D. ST

Correct Ans: D
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Q64. Who is Anita Kundu?
A. She is a Writer B. She is an Olympic athlete
C. She is a Wrester D. She is a Mountaineer

Correct Ans: D

Q64. faar F3 Fi 82

A. 98 T af@e § B. 98 U& Hiaf@ges vyl §
C. a8 U FHcharst § D. I8 T JddRIE &

Correct Ans: D

Q65. In which city is the Indian Institute of Management (IIM), located in Haryana?
A. Faridabad B. Gurugram
C. Rohtak D. Chandigarh

Correct Ans: C

Q65. IO F FW AET F ARAT yeaua e (IIM) Rua @2
A. weTETe B. IR

C. Jgds D. dgTg

Correct Ans: C

Q66. The Central Institute for Research on Buffaloes is located at?
A. Hisar B. Chandigarh
C. Mahendragarh D. Sirsa

Correct Ans: A
Q66. ¥ A FTHTT FEAWT Fel U §?

A. fRER B. Td1Te
C. Ageade D. fazar

Correct Ans: A

Q67. Haryanvi language is written in script.
A. Pallava B. Devanagari
C. Brahmi D. Kaithi

Correct Ans: B

Q67. gRITOTdY #TeT HY el & oG Srar §1
A. Jeordl B. ¢aaATIRY
C. SEAT D. &Y

Correct Ans: B

Q68. The Munshi Gumani Lal Award is presented for excellence in which field?
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A. Shooting B. Athletics
C. Literature D. Handicraft making

Correct Ans: C

Q68. it AT AT TEFER frw & F 3cgeear 8 JaT o e §2

A. fRemsieTsit B. Vereifeard
C. aifgcq D. fRreq fAsToT

Correct Ans: C

Q69. Saina Nehwal, India's ace badminton player, was born in?
A. Chandigarh B. Hisar

C. Hyderabad D. Panipat

Correct Ans: B

Q69. IS AgaTe, Wﬁﬁ%ﬂgﬁﬁmwe}m?iﬁ?

A. F3rTg B. fRaR

C. geEe D. 9reiaa

Correct Ans: B

Q70. The first battle of Panipat was fought in which year?
A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q70. grgd Y ggell 31§ Fw a1 & o) a1 A2

A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q71. Badkhal Lake, near Faridabad, is fringed by which mountain range?
A. Aravalli Range B. Vindhya Range
C. Satpura Range D. Hindu Kush

Correct Ans: A

Q71. WEHETE & IIH J5&e el fFa gddATen & frark W Py 82
A. 3RTEel JadHTET B. faear qdaaTer
C. FART GETATST D. fég Fr

Correct Ans: A

Q72. Which river that flows through Haryana originates from Dagshai in Himachal Pradesh?
A. Ghaggar River B. Yamuna River
C. Ganges River D. Chenab River
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Correct Ans: A
Q72. AT W& # SIATE ¥ 35T FIA arell HieT € AGY gRAmoM # F T 8?2
A. TIIR ST B. I 77E

C. I3 FTEr D. JeATe ST

Correct Ans: A

Q73. Who took oath as the Chief Justice of Punjab and Haryana High Court in August, 2016?
A. Justice Ajay Kumar Mittal B. Justice Surya Kant
C. Justice SS Kairo D. Justice S Jal Vazifdar

Correct Ans: D

Q73. 391Ed, 2016 F frua dorra 3R g 37w =TT ¥ AET gt & ® 7 quy gger Fr 2
A. =g 35T FAR Bcdor B. Fara#fd g #id
C. =l T8 T D. =TI TH Siel deiiher

Correct Ans: D

Q74. Who is popularly known as the "Haryana Hurricane"?
A. Irfan Pathan B. Ashish Nehra
C. Kapil Dev D. Virender Sehwag

Correct Ans: C

Q74. I "gRION FRFA" F ATH ¥ AHRT §?

A. STHTA T3TeT B. 31eNW oig’T
C. &iel &a D. dReg HgamT

Correct Ans: C

Q75. The brand ambassador for "Beti Bachao Beti Padhao" campaign in Haryana is?
A. Sakshi Malik B. Deepika Padukone
C. Priyanka Chopra D. Geeta Phogat

Correct Ans: A

Q75. gRmom # "a& TEmst A g3 A Fr 71081 3T i §?
A. et aforeh B. EIfaehr drghiet

C. e agst D. 3frar wieTe

Correct Ans: A

Q76. The Regional Centre for Biotechnology (RCB) is an academic institution established by
the Department of Biotechnology, Govt. of India with global partnership with UNESCO. Where
is its permanent campus expected to be located?

A. Hisar B. Faridabad
C. Rohtak D. Mewat

Correct Ans: B
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Q76. & argaReTeS Feg (RCB) SAlasIrers! AT, #RT A(HR a1 UNESCO & uryr 3Ras e #
TR fFaT 7T U TR GEAT &1 SR T 9RER FEr BUd @1 Y Feaar 82

A. BER B. WIgEIG
C. Ugd= D. Fad

Correct Ans: B

Q77. The International Crafts Mela, one of the largest crafts fair in the world, was held in
which place in 2016 ?

A. Rohtak B. Surajkund
C. Karnal D. Jind

Correct Ans: B

Q77. 2016 #, AT F1 va W F31 Neq AT, HRTET Rew AaT Fet AT BFaw =2 4r?
A. Ugdh B. §xsis

C. FLTel D. Siig

Correct Ans: B

Q78. Chandimandir Cantonment, the headquarters of the Indian Army's Western Command, is
located in which city?

A. Panchkula city B. Chandigarh
C. Morni D. Pinjore

Correct Ans: A

Q78. HRAT I JT Y AT FHIS FT AEITAT TIATRT BT fFw WeT # 872
A. G BT B. =gw1g

C. A D. TSt

Correct Ans: A

Q79. Karnal was known to be the birth-place of Pakistan's first Prime Minister. Name him.
A. Zulfigar Ali Bhutto B. Liaquat Ali Khan
C. Shauquat Aziz D. Shujaat Hussain

Correct Ans: B

Q79. FATH NIFEAT & Tgar THTeT #HA T ST=ATYeN g & v uflg &1 391 A1 ad |

A. STethIeRY 3TelT 87eT B. forgrerd 3rell @ret
C. it 3rsirst D. el gée

Correct Ans: B

Q80. Which is the second largest city in Haryana?
A. Gurgaon (Gurugram) B. Faridabad
C. Ambala D. Hisar
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Correct Ans: A
Q80. gRATOM 7 GERT T T37 AT FleT AT 82
A. TSI (IATH) B. TIeTaTe
C. 3drelm D. fgar

Correct Ans: A

Q81. Vikas Krishan Yadav from Bhiwani district in Haryana, won a gold medal in the 2010
Asian Games in which sports?

A. Boxing B. Swimming

C. High Jump D. Hockey

Correct Ans: A

Q81. R # frawh e @ fawm Feor aga A 2010 F wrd @t F fFw o F FaviueF siar ar?
A. FFRIETSAT B. oRTehr

C. 3 &g D. giehr

Correct Ans: A

Q82. The Nahar Singh Stadium in Faridabad is famous for which sports?
A. Football B. Hockey

C. Cricket D. Kabaddi

Correct Ans: C

Q82. wigEE & A A iEyw Fy @ & Qv aRg 82

A. peeTe B. gThr

C. forhe D. shagar

Correct Ans: C

Q83. Where is The Technological Institute of Textile and Sciences, established by the Birla
Group, located?

A. Rohtak B. Bhiwani

C. Faridabad D. Sonipat

Correct Ans: B

Q83. e WHg aRT TR SFAiioTe SECCIC I CFUCHEH US AISfead Fgi oud 82
A. Ugas B. famsi

C. wliersTe D. @eiae

Correct Ans: B

Q84. The District of Kurukshetra is famous for which wildlife sanctuary?
A. Ranthambore Wildlife Sanctuary B. Chhilchhila Wildlife Sanctuary
C. Kalesar National Park D. Khaparwas Wildlife Sanctuary

Correct Ans: B


https://haryanajobs.in

https://haryanajobs.in

Q84. Fwar e e aeshia IraRvy & faw uflg 82
A. TIIFAR Feaeia IR0 B. Bafder aegsia 3raroy
C. FTIE T 36T D. WA dodaiid IR0

Correct Ans: B

Q85. The BILT Football stadium is located in which place in Haryana?
A. Rohtak B. Yamunanagar

C. Faridabad D. Sonipat

Correct Ans: B

Q85. R # BILT Fearer w233 fhwr et & @2

A. Ugd=s B. IHATIR

C. wiigErg D. Hiiad

Correct Ans: B

Q86. Where in Haryana would you find Gurudwara Neem Sahib?
A. Bhiwani B. Pinjore

C. Thaneswar D. Kaithal

Correct Ans: D

Q86. &R F JFear A wifew e wew & Bua @2

A. Taartr B. fUailX

C. g D. sherer

Correct Ans: D

Q87. Hathni Kund is a concrete barrage built on the Yamuna River, in which District?
A. Yamunanagar B. Palwal
C. Sirsa D. Rewari

Correct Ans: A
Q87. gueit §3 UF Fhic I ¢ TorasT AT Jegar et oX formam o &1 7% e ey 3 82
A. THATIR B. 9eldel

C. frar D. Yargr

Correct Ans: A

Q88. The Haryana government conferred the Haryana Gaurav Samman award on which
Bollywood playback singer recently?

A. Arijiit Singh B. Nakash Aziz
C. Sonu Nigam D. Abhijit Bhattacharya

Correct Ans: C

Q88. g1 & # FRATVT TFR 7 fry ATeligs waw Maw F gRATOM 7RT FFATT [WEFR & FeFATaa fmar 32
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A. 3G &g B. #AeRTer 3ofier
C. |1 forars D. 3fshd srgrary

Correct Ans: C

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

Gautam Buddha renounced the worldly pleasures to seek enlightenment.
A. stopped B. donated
C. gave up D. forgot

Correct Ans: C

Q90. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

Amit managed to collect donation for the charity event, with the help of his bountiful friends.
A. dutiful B. beautiful
C. liberal D. generous

Correct Ans: D

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

I this office last month."
A. will join B. have joined
C. joined D. would join

Correct Ans: C

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Geeta is the girl in the class.
A. most tall B. tallest
C. taller D. more taller

Correct Ans: B

Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Ritesh is always ready to help people at the drop of a hat.
A. rarely B. immediately
C. never D. slowly

Correct Ans: B

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.
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Knitting a shawl for Lalitha was a piece of cake.
A. very easy B. Confusing
C. difficult D. complicated

Correct Ans: A

Q95. fder - FAftre IUYFA eq/ ASAl HT TN FIA G IFT T F-

A q@A-@ AT AF0A AT e F A TR BT @Y T @) Afher R ot 7S 77 7E1 Fg whar o Iy
gl
A. IR B. afea

C. ufasr D. @rgd

Correct Ans: C

Q96. fder - Faftre IugFd 2req/ eAsal FT TN FIA §C IFT T F-

framht agar ot § | g3 FROT g AR A IEF AR R AsH FAgT____ |
A. furar B. e
C. 3aRT D. G T

Correct Ans: B

Q97. fader - Y@ifa Heray 1 s ygam
A F qfieT & AT A1 51 ga dA Y §, a7 3T Al TeeT T F Y S W @A R |

A. TRATE o FAT B. g €41 &a

C. T AT D.agt-rm:rg’lm

Correct Ans: A

Q98. fader - Y@ifhd #gray #1 7d vgar -
mmmmﬁm#mﬁaﬁﬁg?%,mgm_mmw%l
A. 3TEFRT gleT B. ga1s fohet Sa1eTT

C. g THe= et D. #rarfeaRs gler

Correct Ans: A

Q99. f&er - 4 AFeul # ¥ R 31T 2reg FT I 2reg TaATT -

LS
A. 9rer B. 3{Threr
C.ag D. &HA

Correct Ans: A
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Q100. & - 4 RAFedl # ¥ R 710 oreg FT wHIQTH 25 Fa@W -

e
A. 3T B. 3T
C. R D. da

Correct Ans: A
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